OO0 ITAOO No. 7

60 19000
ooooo oo-

0000000, 00000000000000((NODO0DODO00DOO0DO0UDO0OOO0)ODOOoOOO.

00 7.1 (X,d)00000000.

() 00DD0DD0 ScXOOO0OO0O X00000,0000 S=X00,S0 XO00O0O(dense) 000
goo.

(2) X00DDOOOOOO0OO0O0000000, X000 (separable) 0100000.
00 134 (5pt.) ROODODOOOOOOOO.
00 135 (5pt.) RN 00000000000,

00 136 (5pt.) CNOOOO0OOOO0DOOOO.

gooooobooog.

00 137 (10pt.) (X1, d1), (Xo,d2) 00000, (X3 xX,,d) 000000000000, 000
DooooooOoooooo.

() XO0Oooooo.

(2) X,0 X,00O0O0O00O0O0oo.

00 138 (5pt.) (X,dx), (Y,dy) DODOOO, f,¢: X -~ YOOOOOOOO. SCcXOO0OOOO
000000.0000 fls=y|s000, f=¢g00000000.

00 139 (5pt.) (X,d)00000,0»,eNOOOD, 0000 X, cXO00D0D00OO0OO0O0O
000, X00000000000.

(1) X, cXOOOoOooooooooo.

2 (JUx.0xooo.

n=1

00 140 (1opt.) (X,)00O0O00,SCcXOOO0OOO0O0OOO0.00 XO0OO0OODOOO,00000
Osooooooooooo.

00 141 (10pt.) 1 < p < oo D DD D0, Banach 00 #(N)00000000000 (Hint: 00
136, 13900).

00 142 (O 5pt.) Banach OO ¢>*(N) 0D OO.
(1) 0000 ScNOOOO,1ge¢>(N)0O0D0OO0:

1 ifnes,
0 ifnégsS.

Ig(n) =

000 S8TcNOS#TOO0D,|[ls—17]le=100000000.

*website: http://www.ma.noda.tus.ac.jp/u/rto/m2a/m2a.html
fd((x1,22), (y1,92)) = Vdi(21,91)? + da(2,y2)2.




(2) Banach 00 ¢*(N)0 00000000000,

0o0o00o0oo0o0o0oU0oo0oo0o0o0OoUO, 00000000 oUOoOD (Do0)Oo
0000000000.00000000000000D0D0D0D0D0000 3,180000000. RY
gboboobOobooooboboooboobo.oboboooooboooobobooooooDo.

00 7.2 (X,d)00000000.

(1) X0OO0OOOOOO (sequencially compact) OO0 00, X O0ODODODOO0OODO0OOOO0OOOO
goooo.

(2) 0000 KcXOUOO0OO0OOoOoooooOoo,Kooooooooooooooooooo
goooog.

000 (2)00o000ooo0oUooooooooo.

00 143 (5pt.) (X,d) 00000, KCcXOOO. KOOOOOOOOOOOOOO,KOOO
o000 Kooooooooooboooooooboooboobobooooobooo.

00 144 (5pt.) D000 K CRYNOODO. 00000000000 (=000 147000 <0
O00000. Hint: OO0 1800.):

0073 KcRNOOODODOOOODOOO « KcRV¥NOooooooooog.

gbooobobooooboooooboooboon.

00 145 (5pt.) D000 ROODOOODO0O000O0000. abeR,a<b000.
(1) {a}  2)[a,;b]  (3)(a,00) (4)[a,6] N Q.

00 146 (5pt.) D000 R200000000000000. a,b,e,d€R, a<b c<d0O0.
(1) D:={(z,y) e R? | 22 +y* <1} (2)[a,b] X [e,d]  (3)[a,b] x [c,d) (4)R2.

000 730 CcNOO0000(@OO0O0O0O0O0CNORNOOOOO0OOO0OO0OOO00). RVO Y
00000000000000000000,=000000000 1470000.

00 147 (O 5pt.) 000000000 (1),(2)000000:

00 74 (X,d)U0O0O0O0,KCcXOOOOOOOoooooooo, KO Xoooo
goooo.

() KOOOoOoOoooo,Kooooooooooao.
(2) KOOOODODOOOOOO,KO X000oOoooo.

000000000000 0000000D00000000D0D000000OD0*,

00 148 ((1,2),(3,4):0 5pt.) Banach OO0 (* 00000 B:={z e > ||z <1}0000.
000000000000,00000000000000000000.

() BOO0DODD0000000D0O0.
(2) 0neNODOOOS4,erP000000:

1 if m=n,

0 ifm#n.

On(m) =

oooo0Jd,eBOOOOOOODO.

ID0DO0ODO0OD0ODO0OO00O00OD0O00O0000N0NODODO00NO0DO0DO0DO0ONooOooo.



(3) n#£n/ 000 |6, —dullee =100000000.
(4) BOOO {fu}nen0000000000000000000.

O
obooobOoobooooobobooobooboooo,1obobobooooobooooooooboon.

00 149 (5pt.) (X,d)0000000,102€X000. 0000200000000 {2}cX
0000000000000000.

obboobOoobooooobooooboobooooboooooboon.
00 150 (O 5pt.) (X,d)00000,K0 XOOOOOUOOOOOOOOOO.oooao.

(1) Ki,...,.K,eK= | Knek.

m=1

(2) KxeK,AeAl= [ Krek.
AeA

000000000000000000000000.
00 151 (5pt.) 0000000,

00 7.5 (X,d), (v,d)00000, f: X —-YOOOOO,KcXO000000000O
0000.0000 KOO f(K)0DYOOOOOOOOoOoooO.

000 S'0000ROOOOOODOOOOOOOOD.

00 152 (0 5pt.) 000 S':={(z,9) €R? |22 +3>=1}0 ROODOO0DO00. 00 67000
0000,000 8 -ROOO0OO00.00000000 f:8'—-ROO0DO0DO0000000000O
ooo.

(1) S'O0R?00000000000000000O0.
(2) 00000 f:S'—-ROODODOO0OOOOO0O.

gbooobOobooooobooboooooboooooboobobooobobooon.

00 153 (5pt.) (X,d), (Y,d)OOOOO, f: X —-YOOOOO,KCcYOOOooooooo
000.0000 KODOD f(K)0 X0000O00O0O0000000000000000.

gobooooooooooooo,b0oboooboooboooobooobooobo. ooooooooon.

00 7.6 (K,d000000000000, f: K—ROOODO0OD00O00. 0000 f0000,00
000000,0000000abe KOODOODO,000002eX0000 f(a)< f(z)< f(b)
0ooooo.

00 154 (0 5pt.) OO0 7.600000000.
(1) f(K)DO ROODODOOOOOOODOOO0O.

(2) f(K)DDDO,0000000mMOOD. f(K)DDDODOO0O0000000, f(a) =m,
fb)=MODOD0ebe KOOODODODOOODOO.

SADDDODO. Hint: 00 58,147 00.



00 155 (5pt.) (X,d)00000,KCcXUOO0OOOOOOOOOOOO,KOOOOOOOO
oooooobooooon.

00 156 (5pt.) (X,d)00000, KO XOO0OOOOOOOO, FO XO0OOOOOO. OO
FcKUOOO,FrFrOOOOODODOODODOODO.

00 7.7 (X,dx), (Y,dy) 0OOOO, f: X —Y0OOOOOO.

(1) fDDDDDﬁDDDDD,DDDDD T,z €« XOOOODDODODODODOOODODODO:
dY(f(xl)af(x2)):dX(xlaxQ)

(2) fO000D0ODODODODOD,000<r<100000,00000 23,z,€X0000000
ooooooool

dy (f(z1), f(z2)) < rdx(z1,22)

00 157 (O 5pt.) (X,dx), (Y,dy)0ODDOO, f: X > YODOOOOO. 000000000
oo.

(1) fOOD00DD0O0OOOfOOODOOOOODOO.

(2) fO0O0D0O0O0OOOOfODOOOOO.

00 158 (0 5pt.) (X,d) 0000000, som(X)0 XO0OOOOOOOOOO0DOO00000O.
00000000000,

(1) 000D idy: X — X0 som(X)0DOOO.
(2) f,g € Isom(X) = fog € Isom(X).
(3) f €lsom(X) = f~! € Isom(X).

gboobooobodgboooog.

o0 78 (0000O00OD0OOOO) (X,d)UDOOOUOD, f:X—-X0O0OOOOUOO. 0000
f00000D000000,0000 flo)=2000zeX000000007,

00 159 (O 5pt.) OO0 7.800000000.
(1) (000)00 z,ye XO0OOOO f00000000,2=y00000000.

(2) (00 1)0aeeX000000, apgy = f(an), a1 =a00000 {aptney 00000, O
00000000000: 0000neNOOOO,

d(ant1,0n) < r"_ld(ag, ay).

(3) (00 2) 00 {anlnen 00 000000000000 (Hint: 00000).

(4) (00 3)00 {an}nen 00000 (000O0O0D0007?), f000000000000.

000000000000 0000O000000000000O0ONNooog.

lfoDo0DDO0D r<100000000.

“*0000000000000000 Isom(X)OOO0OO.
ff000000000000,0000000000000000000000000000,000000000.



